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QUESTION 1

Given the following table definition in a multi-partitioned database: Which column(s) will be chosen by DB2 as a
distribution key (partitioning key)?

CREATE TABLE part
(name CHAR [(30) NOT MULL,
emp_id INT NOT MULL,
address VARCHAR (1024),
55 0d  INT NOT MULL,
PRIMARY KEY (55 _1d, emp_id, name) )

A.SS_ID

B. EMP_ID

C. NAME

D. SS_ID, EMP_ID, and NAME

Correct Answer: A

QUESTION 2

The RECOVER command is used in an attempt to fix a damaged table space. What will the system do during the
RECOVER process?

A. Create a new temporary table space if the damaged table space is a temporary table space.

B. Restore the database and attempt to make as much of the database available as possible.

C. Restore the database and bypass inaccessible containers and make the rest of the table space available.
D. Prompt the user for new container definitions for damaged or missing containers.

Correct Answer: B

QUESTION 3

Which of the following techniques will ensure that you CANNOT encounter two active primary servers in an HADR pair?
A. Set ALTERNATER SERVER to fixed IP Addresses on both servers.

B. Use a virtual IP Address for both servers.

C. Use a virtual IP Address in the CATALOG DATABASE command.

D. Catalog both servers separately and use a fixed IP address for both servers.
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Correct Answer: C

QUESTION 4

If instance DB2INST1 is created and its authentication type is set to KRB_SERVER_ENCRYPT, which statement is
true?

A. Databases created in DB2INST1 will use SERVER_ENCRYPT authentication if KERBEROS authentication is not
available.

B. Databases created in DB2INST1 will use KERBEROS authentication if SERVER_ENCRYPT authentication is not
available.

C. Client connections to databases on DB2INST1 will fail unless they are attempted through an LDAP connection.
D. Client connections from Windows machines to databases on DB2INST1 will flow clear text passwords.

Correct Answer: A

QUESTION 5

If the shared sort heap threshold parameter SHEAPTHRES_SHR is set to AUTOMATIC, what will happen?
A. All sorts will be done in a temporary table space.

B. The shared sort memory allocation will be controlled by DB2.

C. No shared memory is allocated for sorting.

D. All sorts will be done in shared memory.

Correct Answer: B
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